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Exercises

3. Identify the transformations that would be applied to the graph of
3 3

} — e - ~ 9 1 : g
Yy = cos x to get the graph of y = 3 €O 2 (x + 3) — 5.
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4. Identify the following characteristics of each graph below:
amplitude; period; phase shift; equation of the centre line; domain;

maximum value; minimum value; range
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5, a) For the function graphed below, identify the values of a, b, ¢, and

diny = asinb(x — ¢) + d, then write an equation for the
function.
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b) For the function graphed below, identify the values of a, b, ¢, and

diny = acos b(x — ¢) + d, then write an equation for the

function.
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6.7 Applications of Sinusoidal Functions
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6. Use transformations to sketch a graph of each function for
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- 7. A sound wave is a sinusoidal curve, as illustrated by the g e
oscilloscope image below. Determine the function that best T

describes this graph. A 1




g. A vertical wheel with ragjy
60 cm above the ground, A Outan axle that is

Marker i
The wheel completes oneWel:er:—;a;ed =the topofithe whesl,
— s.

a) i) Explain why a cosine functiq
model for the height, ; cene:
t seconds. > centimetres, of the marker at any time
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ii) For‘the graph of-the cosine function from part i, identify the:
period; phase shift; equation of the cenre line; and amplitude.

Explain how each characteristic relates to the conditions in the
problem. . b=21 - T
Time(s) Hﬁsh}-(crn) ,D(yr/‘nl = Ysecmdn =) 7 >
& Jjp cental line = medianhne = Y% 1
,’ () : 2
7L |0 o = oom
3 Lo _ 10— 10 _ ‘
b) Write an equation of a cosine function that models the motion of
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